ohe 2% 22 A4 ABCD |4 tiZ4H4d BD &
sto] HolA H ¢ 7 $A7 WS E,BE 9 AD o wHS F o &
o, FD ©] Zol& F-sloiat.

AEFD oA (5 -x)% 4 (V5)? = x2, 10x = 30
Lx=3




>
> ®™EH: 25 cm?

ADPC o4 PC = V102 - 82 = 6
AQExZI5PH, AQBP Al QB=8-x,BP =4, QP =x
,x2=(8-x)2+4%,x=5

__ — 1
QP = 5cm , DP = 10em , AQPD = 3 x 5 x 10 = 25(cm?)




i
o
ofx
go
N
gllo
rlo
o
o

® AE =10cm @ BE = 8cm

® /DAF = /EAF @ AADF = AAEF

@AAFE =90°

AD = AE = 10cm , BE = V102 - 62 = 8(cm) , /DAF =
(EAF , AF £ 50|82 AADF = AAEF (SAS &%)oltt.
LAEF = 90° o]2& (3 o]t},




N
=

3 AB
a9

oh 9L /0 = 90° 91 {74t

e

o

M o, lo
o &g

= |

AD & % Wo2 ohi A7
B = 13cm, AACD = 72cm?
#lo 2 sk AAZHe o] Wole?

ne,

A
a

m,

O 21cm? @ 22cm? @25 cm?

@ 30cm? ® 40cm?

B

£ O R 7= AR Y Hole 144 cm? o[t
T, DADEB = 132 = 169 (cm?) ©]E2 BC & gt Ho =z
A Y] Hole

169 — 144 = 25 (cm?) o]t}

AACD £ AC S ¢ o2 sl AAZg Yolo] - o|B=2 AC




a3 2ol

Moz st A}

2712+ ABC ©] AB 2 o

=
714 ADEB & 1%<

AEBC 9] Ho]7} 72em? o] AC 9] Zo]
= duielz] fatefzt (dF, ©Hel= A=)

E

B ~.

--13--~

X

AEBC = AEBA = 72 cm?
OADEB = 144cm?, AB = 12¢cm

~ AC = V132 -122 =5 (cm)




X,
N
x
o
N
N
ofl
>
o)

° o S Ceztd

O 2 5k A S 119 Zolth. AABC .

Wol7} 10 ©] 7 nADEB ] Wolzp 25 B
BFGC, ACHI 2] ¥lo] 2] 2}

o
e
o

=y
ot
=5
.
)
Q

@2

® 21 @ 22 ® 23 F

OoADEB + oACHI = oBFGC
oBFGC — oACHI = oADEB
it A £S5k Y ol= oADEB = 259°|t}




oh 23 o] A4z ABC 9] 9]
AD £ g ¥lo & ahe 447t ADE 9|
Hol7F 12vV3em? & 1w, AABC 9] Yol &
T
B
@ 12V3em? @16\/§cm2
® 16 V2 cm? @ 126 cm?
® 12V2cm?
VAD = hcem @} 514,
2ADE 9 gol= Y3 12— 193
whebA], h =43
AABC 9] &+ ¥ x (cm) 2 FH,
‘/;xzwgo]y_ix:s

. AABC = \/T§

x 82 = 16 V3 (cm?) °]t}.




017k Gem 9 HAIZHG O] Wol S o

® 6cm? @ 9cm? ® 9+3cm?
@ 10V2cm? @12\/§cm2

=0 h = 730 olmg ‘/7361 =6
La=4vV3
webA, WOl
= %5(12 = ?(4\/5)2 =123 (cm?) o]t}




4
!
1
i
0v/6
\
\

10V6,

/
/

/

N
o S WA
ﬁelw_ﬁ_unb
~— N

oK g
T QRO
1_.1_._n N
N - o
FHE N
— B 5% W
o —
1rE7_|]O
71_|0Hm

< o
oo B oo

® V3:3

@\/3:2

D V2:2

® 3

V3

@ 2:

(10V6)? ©] 1L a® = 300
300

a>+a? =
A:a2:

V3

b:10V6 =2

2003

V3 : 2 ot}

x (20 V2)?

V3
4

* B=

202

w2tA, A : B =300 : 200 V3

b:




